# On nonlinear partial differential Equations 

## .Ali Hassan Mohammed ,Layla Abd Al-Jaleel Mohsin ,Kufa University ,College of Education for Girls ,Math.Department

## Abstract:-

This paper introduces suggested method for solving the nonlinear partial differential equations which are homogeneous degree and its equal to degree 2 with the following general form:
$\mathrm{A}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x x}+\mathrm{B}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x y}+$
$\mathrm{C}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y y}+\mathrm{D}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x}+$
$\mathrm{E}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y}+\mathrm{F}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z=0$
where $\mathrm{A}, \mathrm{B}, \mathrm{C}, \mathrm{D}, \mathrm{E}$ and F are linear functions of dependent variable Z and partial derivatives of dependent variable with respect to the independent variables x and y .

## 1-Introduction :

Many of researchers try to find new methods for solving (P.D.Es) , Kudaer [7],2006 studied the linear second order (O.D.Es) ,which have the form $y^{\prime \prime}+P(x) y^{\prime}+Q(x) y=0$
and used the assumption $y(x)=\mathrm{e}^{\int Z(x) d x}$ to find the general solution of it, and the solution depends on the forms of $P(x)$ and $Q(x)$.
Abd Al-Sada [1],2006 studied the linear second order (P.D.Es) with constant coefficients and which have the form

$$
\mathrm{A} Z_{x x}+\mathrm{B} Z_{x y}+\mathrm{C} Z_{y y}+\mathrm{D} Z_{x}+\mathrm{E} Z_{y}+\mathrm{F} Z=0
$$

where A, B , C , D , E and F are arbitrary constants .
she used the assumption $Z(x, y)=\mathrm{e}^{\int U(x) d x+\int V(y) d y}$
to find the complete solution of it, and the solution depends on the values of A, B , C , D, E and F .
Hani [5],2008, studied the linear second order (P.D.Es) which have three independent variables, and which have the form

$$
\begin{aligned}
& A Z_{x x}+B Z_{x y}+C Z_{x t}+D Z_{y y}+E Z_{y t}+F Z_{t t}+ \\
& G Z_{x}+H B Z_{y}+I Z_{t}+J Z=0
\end{aligned}
$$

where $\mathrm{A}, \mathrm{B}, \mathrm{C}, \ldots, \mathrm{J}$ are arbitrary constants .
she used the assumption $Z(x, y, t)=e^{\int U(x) d x+\int V(y) d y+\int W(t) d t}$
to find the complete solution of it, and the solution depends on the values of A,B,C,..., J.
Finally, Hanon [6],2009, studied the linear second order (P.D.Es), with variable coefficients which have the form

$$
\begin{aligned}
& A(x, y) Z_{x x}+B(x, y) Z_{x y}+C(x, y) Z_{y y}+D(x, y) Z_{x}+E(x, y) Z_{y}+ \\
& \quad F(x, y) Z=0
\end{aligned}
$$

where some of $\mathrm{A}(x, y), \mathrm{B}(x, y), \mathrm{C}(x, y), \mathrm{D}(x, y), \mathrm{E}(x, y)$ and $\mathrm{F}(x, y)$
are functions of x or y or both x and y .
To solve this kind of equations ,she used the assumptions

$$
\begin{gathered}
Z(x, y)=\mathrm{e}^{\int \frac{U(x)}{x} d x+\int V(y) d y}, \quad Z(x, y)=\mathrm{e}^{\int U(x) d x+\int \frac{V(y)}{y} d y} \text { and } \\
Z(x, y)=\mathrm{e}^{\int \frac{U(x)}{x} d x+\int \frac{V(y)}{y} d y}
\end{gathered}
$$

These assumptions represent the complete solution of the above equation and the solution depends on the forms of
$\mathrm{A}(x, y), \mathrm{B}(x, y), \mathrm{C}(x, y), \mathrm{D}(x, y), \mathrm{E}(x, y)$ and $\mathrm{F}(x, y)$
In this paper, we will discuss the non-linear (P.D.Es) of homogeneous degree which are defined as the following " The partial differential equation that each degree of any term in it is equal in the degree with another terms in it's dependent variable and partial derivatives of dependent variable with respect to the independent variables x and y ". We will solve the nonlinear (P.D.Es) which are homogeneous of degree 2 that the general form is
$\mathrm{A}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x x}+\mathrm{B}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x y}+$
$\mathrm{C}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y y}+\mathrm{D}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x}+$
$\mathrm{E}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y}+\mathrm{F}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z=0$
where $\mathrm{A}, \mathrm{B}, \mathrm{C}, \mathrm{D}, \mathrm{E}$ and F are linear functions of dependent variable Z and partial derivatives of dependent variable with respect to the independent variables $x$ and $y$. We will use the following assumptions
$Z(x, y)=e^{\int U(x) d x+\int V(y) d y}, Z(x, y)=e^{\int \frac{U(x)}{x} d x+\int V(y) d y}$
$Z(x, y)=e^{\int U(x) d x+\frac{V(y)}{y} d y}$ and $Z(x, y)=e^{\int \frac{U(x)}{x} d x+\int \frac{V(y)}{y} d y}$
These assumptions help us to find the complete solutions of this kind of equations

## 2-DEFINITION

## AL-Qadisiya Journal For SCIENCE Vol . 16 No. 2 Year 2011 ISSN 1997-2490

The partial differential equation that each degree of any term in it equal to the degree of another terms of it (in its dependent variable and partial derivatives of dependent variable with respect to the independent variables $x$ and $y$ ) is called (P.D.Es) with homogeneous degree .
3-SOLVING SPECIAL KINDS OF THE NONLINEAR PARTIAL DIFFERENTIAL EQUATIONS WHICH ARE HOMOGENEOUS OF DEGREE 2.

The general form of them is:

$$
\begin{align*}
& \mathrm{A}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x x}+\mathrm{B}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x y}+ \\
& \mathrm{C}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y y}+\mathrm{D}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x}+  \tag{1}\\
& \mathrm{E}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y}+\mathrm{F}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z=0
\end{align*}
$$

where $\mathrm{A}, \mathrm{B}, \mathrm{C}, \mathrm{D}, \mathrm{E}$ and F are linear functions of dependent variable Z and partial derivatives of dependent variable with respect to the independent variables $x$ and $y$. We will choose some kinds of nonlinear (P.D.Es) which are homogeneous of degree 2 to find the complete solution of them, and divide them ,according to the assumption that help us to solve them, into four kinds:

## Kind (1)

The non-linear (P.D.Es) of homogeneous degree with constant coefficients ( x and y are missing),as:-

$$
\begin{equation*}
\mathrm{A}_{1} Z_{x x} Z_{y y}+\mathrm{A}_{2} Z_{x} Z_{y}=0 \tag{2}
\end{equation*}
$$

where $\mathrm{A}_{1}$ and $\mathrm{A}_{2}$ are arbitrary constants and not identically zero. Here, we search new functions $U(x)$ and $V(y)$ such that the assumption
$Z(x, y)=e^{\int U(x) d x+\int V(y) d y}$
helps us to find the complete solutions of the equation (2). By finding $Z_{x}, Z_{y}, Z_{x x}$ and
$Z_{y y}$ from (3), we get

$$
\begin{aligned}
& Z_{x}=U(x) \mathrm{e}^{\int U(x) d x+\int V(y) d y} \\
& Z_{x x}=\left[U^{\prime}(x)+U^{2}(x)\right] \mathrm{e}^{\int U(x) d x+\int V(y) d y} \\
& Z_{y}=V(y) \mathrm{e}^{\int U(x) d x+\int V(y) d y} \\
& Z_{y y}=\left[V^{\prime}(y)+V^{2}(y)\right] \mathrm{e}^{\int U(x) d x+\int V(y) d y}
\end{aligned}
$$

by substituting $Z_{x}, Z_{y}, Z_{x x}$ and $Z_{y y}$ in the equation (2), we get

$$
\left[\mathrm{A}_{1}\left(U^{\prime}(x)+U^{2}(x)\right)\left(V^{\prime}(y)+V^{2}(y)\right)+\mathrm{A}_{2} U(x) V(y)\right] e^{2\left[\int U(x) d x+\int V(y) d y\right]}=0
$$

Since $\quad \mathrm{e}^{2\left[\int U(x) d x+\int V(y) d y\right]} \neq 0$
So ,
$\mathrm{A}_{1}\left(U^{\prime}(x)+U^{2}(x)\right)\left(V^{\prime}(y)+V^{2}(y)\right)+\mathrm{A}_{2} U(x) V(y)=0$
This equation is variable separable [4]. We can solve the last equation as follows:
$\frac{A_{1}\left(U^{\prime}(x)+U^{2}(x)\right)}{U(x)}=\frac{-A_{2} V(y)}{V^{\prime}(y)+V^{2}(y)}=\lambda^{2} ; \lambda=$ arbitrary constant
Therefore $\quad \mathrm{A}_{1} U^{\prime}(x)+\mathrm{A}_{1} U^{2}(x)-\lambda^{2} U(x)=0$
$U^{\prime}(x)+U^{2}(x)-\frac{\lambda^{2}}{\mathrm{~A}_{1}} U(x)=0$
also, $\quad V^{\prime}(y)+V^{2}(y)+\frac{A_{2}}{\lambda^{2}} V(y)=0$
...(5) The equations (4)and (5) are similar to Bernoulli equation [3], then the solution for them is given by:

$$
U(x)=\frac{e^{\frac{\lambda^{2}}{A_{1}} x}}{\int e^{\frac{\lambda^{2}}{A_{1}} x} d x} \quad, \quad V(y)=\frac{e^{\frac{-A_{2}}{\lambda^{2}} y}}{\int e^{\frac{-A_{2}}{\lambda^{2}} y} d y}
$$

Then the complete solution of the equation (2) is given by:-
$Z(x, y)=e^{\int\left(\frac{e^{\frac{\lambda^{2}}{A_{1}} x}}{\int e^{\frac{\lambda^{2}}{A_{1}} x} d x}\right) d x+\int\left(\frac{e^{\frac{-A_{2}}{\lambda^{2}} y}}{\int e^{\frac{-A_{2}}{\lambda^{2}} y} d y}\right) d y}$
$=e^{\ln \left(\int e^{\frac{\lambda^{2}}{A_{1}} x} d x\right)+\ln \left(\int e^{\frac{-A_{2}}{\lambda^{2}} y} d y\right)+c_{1}}$
$=\mathrm{k}\left[\frac{A_{1}}{\lambda^{2}} e^{\frac{\lambda^{2}}{A_{1}} x}+c_{2}\right]\left[\frac{-\lambda^{2}}{A_{2}} e^{-\frac{A_{2}}{\lambda^{2}} y}+c_{3}\right]$
; $\lambda \neq 0$ and $\mathrm{K}=\mathrm{e}^{c_{1}}$, where $c_{2}, c_{3}$ and $\lambda$ are arbitrary constants.
Example :-To solve the (P.D.E):-
$2 Z_{x x} Z_{y y}-\frac{1}{4} Z_{x} Z_{y}=0$
We will use the above formula, then the complete solution of the above (P.D.E.) is given by

$$
\lambda \neq \mathbf{O} ; \quad Z(x, y)=k\left[\frac{2}{\lambda^{2}} e^{\frac{\lambda^{2}}{2} x}+c_{2}\right]\left[4 \lambda^{2} e^{\frac{1}{4 \lambda^{2}} y}+c_{3}\right]
$$

where $\boldsymbol{K}, \boldsymbol{\lambda}, \boldsymbol{c}_{2}$ and $\boldsymbol{c}_{3}$ are arbitrary constants.

## Kind (2)

The non-linear (P.D.Es) of homogeneous degree with variable coefficients (variable x only, y is missing), as:-

$$
\begin{equation*}
\mathrm{A}_{1} Z_{y y}^{2}+\mathrm{A}_{2} x Z_{x} Z_{y y}+\mathrm{A}_{3} Z^{2}=0 \tag{6}
\end{equation*}
$$

where $\mathrm{A}_{1}, \mathrm{~A}_{2}$ and $\mathrm{A}_{3}$ are arbitrary constants and not identically zero.
Here, we search new functions $U(x)$ and $V(y)$ such that the assumption
$Z(x, y)=e^{\int \frac{U(x)}{x} d x+\int V(y) d y}$
Helps us to find the complete solution of the equation (6). Using $Z_{y y}$ from the kind
(1) and finding $Z_{x}$ from (7), we get

$$
Z_{x}=\frac{U(x)}{x} \mathrm{e}^{\int \frac{U(x)}{x} d x+\int V(y) d y}
$$

by substituting $Z, Z_{x}$ and $Z_{y y}$ in the equation (6), we get

$$
\begin{aligned}
& \mathrm{A}_{1}\left(V^{\prime}(y)+V^{2}(y)\right)^{2}+\mathrm{A}_{2} U(x)\left(V^{\prime}(y)+V^{2}(y)\right) \\
& \left.+\mathrm{A}_{3}\right] e^{2\left[\int \frac{U(x)}{x} d x+\int V(y) d y\right]}=0 \\
& \text { Since } \left.\quad e^{2\left[\int \frac{U(x)}{x} d x+\int V(y) d y\right.}\right]
\end{aligned}=0
$$

Then,
$\mathrm{A}_{1}\left(V^{\prime}(y)+V^{2}(y)\right)^{2}+\mathrm{A}_{2} U(x)\left(V^{\prime}(y)+V^{2}(y)\right)+\mathrm{A}_{3}=0$
This equation is variable separable [4].We can solve it as follows:-
$\frac{\mathrm{A}_{1}\left(V^{\prime}(y)+V^{2}(y)\right)^{2}+\mathrm{A}_{3}}{\left(V^{\prime}(y)+V^{2}(y)\right)}=-\mathrm{A}_{2} U(x)=\lambda^{2}$
Therefore, $\quad U(x)=\frac{-\lambda^{2}}{\mathrm{~A}_{2}}$
Also,
$\mathrm{A}_{1}\left(V^{\prime}(y)+V^{2}(y)\right)^{2}-\lambda^{2}\left(V^{\prime}(y)+V^{2}(y)\right)+\mathrm{A}_{3}=0$

$$
\left(V^{\prime}(y)+V^{2}(y)\right)=\frac{\lambda^{2} \pm \sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}
$$

Let

$$
\mathbf{B}=\sqrt{\frac{\lambda^{2} \pm \sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}}
$$

Then the last equation becomes:

$$
V^{\prime}(y)+V^{2}(y)-\mathrm{B}^{2}=0
$$

This equation is (O.D.E.) with constant coefficient , we can solve it as follows:-

$$
\begin{aligned}
& \frac{d V}{V^{2}(y)-\mathrm{B}^{2}}+d y=0 \quad \Rightarrow \frac{-1}{\mathrm{~B}} \tanh ^{-1}\left(\frac{V(y)}{\mathrm{B}}\right)=\mathrm{c}-y \\
& V(y)=\mathrm{B} \tanh (\mathrm{~B} y-\mathrm{cB})
\end{aligned}
$$

Then the solution of the equation (6) is given by:-

$$
\begin{aligned}
Z(x, y) & =e^{-\int\left(\frac{\lambda^{2}}{\mathrm{~A}_{2} x}\right) d x+\int(\mathrm{B} \tanh (\mathrm{By}-\mathrm{cB})) d y} \\
& =e^{\frac{-\lambda^{2}}{\mathrm{~A}_{2}} \ln x+\ln (\cosh (\mathrm{By}-\mathrm{cB}))+\mathrm{c}_{1}} \\
& =\mathrm{K} x^{\frac{-\lambda^{2}}{\mathrm{~A}_{2}}}(\cosh (\mathrm{By}-\mathrm{cB})) ; \mathrm{K}=e^{\mathrm{c}_{1}} \\
& =x^{\frac{-\lambda^{2}}{\mathrm{~A}_{2}}}\left[\mathrm{~d}_{1} \cosh \sqrt{\frac{\lambda^{2} \pm \sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} y-\right.
\end{aligned}
$$

$$
\left.\mathrm{d}_{2} \sinh \sqrt{\frac{\lambda^{2} \pm \sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} y\right] \quad ; \mathrm{K}=e^{\mathrm{c}_{1}}
$$

$$
\mathrm{d}_{1}=\mathrm{K} \cosh \sqrt{\frac{\lambda^{2} \pm \sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} \mathrm{c}
$$

$$
\mathrm{d}_{2}=\mathrm{K} \sinh \sqrt{\frac{\lambda^{2} \pm \sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} \mathrm{c}
$$

cand $\lambda$ are arbitrary constants. And the complete solution of the equation (6) is given by:-

$$
\begin{aligned}
& \left(Z(x, y)-x^{\frac{-\lambda^{2}}{\mathrm{~A}_{2}}}\left[\mathrm{~K}_{1} \cosh \sqrt{\frac{\lambda^{2}+\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} y-\right.\right. \\
& \left.\left.\mathrm{K}_{2} \sinh \sqrt{\frac{\lambda^{2}+\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} y\right]\right) \\
& \left(Z(x, y)-x^{\frac{-\lambda^{2}}{\mathrm{~A}_{2}}}\left[\mathrm{~K}_{3} \cosh \sqrt{\frac{\lambda^{2}-\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} y-\right.\right. \\
& \left.\mathrm{K}_{4} \sinh \sqrt{\frac{\lambda^{2}-\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} y\right)=0
\end{aligned}
$$

where

$$
\begin{aligned}
& \mathbf{K}_{1}=K \cosh \sqrt{\frac{\lambda^{2}+\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} c \\
& , \mathrm{~K}_{2}=\mathrm{K} \sinh \sqrt{\frac{\lambda^{2}+\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} c \\
& , \mathbf{K}_{3}=\mathrm{K} \cosh \sqrt{\frac{\lambda^{2}-\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} c \\
& , \mathbf{K}_{4}=\mathbf{K} \sinh \sqrt{\frac{\lambda^{2}-\sqrt{\lambda^{4}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \mathrm{~A}_{1}}} c
\end{aligned}
$$

and $\lambda$ are arbitrary constants.
Example :- To solve the (P.D.E.)
$\frac{1}{2} Z_{y y}^{2}+2 x Z_{x} Z_{y y}-Z^{2}=0$
We use the above formula ,so the complete solution of the given (P.D.E.) is given by :-

$$
\begin{aligned}
& \left(Z(x, y)-x^{\frac{-\lambda^{2}}{2}}\left[\mathrm{~K}_{1} \cosh \sqrt{\lambda^{2}+\sqrt{\lambda^{4}+2}} y-\right.\right. \\
& \quad \mathbf{K}_{2} \sinh \sqrt{\left.\left.\lambda^{2}+\sqrt{\lambda^{4}+2} y\right]\right)}
\end{aligned}
$$

$$
\left(Z(x, y)-x^{\frac{-\lambda^{2}}{2}}\left[\mathrm{~K}_{3} \cosh \sqrt{\lambda^{2}+\sqrt{\lambda^{4}+2}} y-\right.\right.
$$

$$
\left.\left.\mathbf{K}_{4} \sinh \sqrt{\lambda^{2}+\sqrt{\lambda^{4}+2} y}\right]\right)=0
$$

where $K_{1}, K_{2}, \mathrm{~K}_{3}, \mathrm{~K}_{4}$ and $\lambda$ are arbitrary constants.

## Kind (3)

The non-linear (P.D.Es) of homogeneous degree with variable coefficients (variable y only, x is missing), as:-
$\mathrm{A}_{1} y^{2} Z_{x y}^{2}+\mathrm{A}_{2} y Z Z_{x y}+\mathrm{A}_{3} Z^{2}=0$
where $\mathrm{A}_{1}, \mathrm{~A}_{2}$ and $\mathrm{A}_{3}$ are arbitrary constants and not identically zero. Here, we search new functions $U(x)$ and $V(y)$ such that the assumption
$Z(x, y)=e^{\int U(x) d x+\frac{V(y)}{y} d y}$
Helps us to find the complete solution of the equation (8). By finding $Z_{x y}$ from (9) , we get

$$
Z_{x y}=\frac{U(x) V(y)}{y} \mathrm{e}^{\int U(x) d x+\int \frac{V(y)}{y} d y}
$$

by substituting $Z$ and $Z_{x y}$ in the equation (8), we get

$$
\begin{aligned}
& \left.\left[\mathrm{A}_{1} U^{2}(x) V^{2}(y)+\mathrm{A}_{2} U(x) V(y)+\mathrm{A}_{3}\right] e^{2\left[\int U(x) d x+\int \frac{V(y)}{y} d y\right.}\right]=0 \\
& \text { Since } \quad e^{2\left[\int U(x) d x+\int \frac{V(y)}{y} d y\right]} \neq 0
\end{aligned}
$$

So, $\quad \mathrm{A}_{1} U^{2}(x) V^{2}(y)+\mathrm{A}_{2} U(x) V(y)+\mathrm{A}_{3}=0$
Here although we can separate the variables, but we suppose that $V(y)=\lambda$ (because we get the same result ) where $\lambda$ is an arbitrary constant, and then the last equation becomes:-
$\mathrm{A}_{1} \lambda^{2} U^{2}(x)+\mathrm{A}_{2} \lambda U(x)+\mathrm{A}_{3}=0$
$U(x)=\frac{-\mathrm{A}_{2} \pm \sqrt{\mathrm{A}_{2}^{2}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \lambda \mathrm{~A}_{1}} ; \lambda \neq 0$
$Z(x, y)=e^{\int\left(\frac{-\mathrm{A}_{2} \pm \sqrt{\mathrm{A}_{2}^{2}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \lambda \mathrm{~A}_{1}}\right) d x+\int\left(\frac{\lambda}{y}\right) d y}$ So,
$=e^{\frac{-\mathrm{A}_{2} \pm \sqrt{\mathrm{A}_{2}^{2}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \lambda \mathrm{~A}_{1}} x+\lambda \ln y+\mathrm{c}_{1}}$
$=\mathrm{K} y^{\lambda} e^{\frac{-\mathrm{A}_{2} \pm \sqrt{\mathrm{A}_{2}^{2}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \lambda \mathrm{~A}_{1}} x}, \mathrm{~K}=e^{\mathrm{c}_{1}}$
and the complete solution of ( 8 ) is given by:-
$\left(Z(x, y)-\mathrm{K} y^{\lambda} e^{\frac{-\mathrm{A}_{2}+\sqrt{\mathrm{A}_{2}^{2}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \lambda \mathrm{~A}_{1}} x}\right)\left(Z(x, y)-\mathrm{K} y^{\lambda} e^{\frac{-\mathrm{A}_{2}-\sqrt{\mathrm{A}_{2}^{2}-4 \mathrm{~A}_{1} \mathrm{~A}_{3}}}{2 \lambda \mathrm{~A}_{1}} x}\right)=0$
$; \lambda \neq 0$
where $K$ and $\lambda$ are arbitrary constants.
Example :- To solve the (P.D.E.):-
$2 y^{2} Z_{x y}-3 y Z Z_{x y}+\frac{1}{4} Z^{2}=0$
We will use the above formula ,then, the complete solution of the given (P.D.E .)is
$\left(Z(x, y)-K y^{\lambda} e^{\frac{3+\sqrt{7}}{4 \lambda} x}\right)\left(Z(x, y)-K y^{\lambda} e^{\frac{3-\sqrt{7}}{4 \lambda} x}\right)=0 \quad ; \lambda \neq 0$ where
$K$ and $\lambda$ are arbitrary constants .

## Kind (4)

The non-linear (P.D.Es) of homogeneous degree with variable coefficient (both of variables x and y ), as:-

$$
\begin{equation*}
\mathrm{A}_{1} y^{2} Z Z_{y y}+\mathrm{A}_{2} x^{2} Z_{x}^{2}=0 \tag{10}
\end{equation*}
$$

where $\mathrm{A}_{1} a n d \mathrm{~A}_{2}$ are arbitrary constants and not identically zero. Here, we will search new functions $U(x)$ and $V(y)$ such that the assumption
$Z(x, y)=e^{\int \frac{U(x)}{x} d x+\int \frac{V(y)}{y} d y}$
helps us to find the complete solutions of the equation (10).
Using $Z_{x}$ and $Z_{y y}$ from the above kinds and substituting them in the equation, (10) we get
$\left[\mathrm{A}_{1}\left(y V^{\prime}(y)+V^{2}(y)-V(y)\right)+\mathrm{A}_{2} U^{2}(x)\right] e^{2\left[\int \frac{U(x)}{x} d x+\frac{V(y)}{y} d y\right]}=0$
Since $\quad \mathrm{e}^{2\left[\int \frac{U(x)}{x} d x+\int \frac{V(y)}{y} d y\right.} \neq 0$
So,

$$
\mathrm{A}_{1}\left(y V^{\prime}(y)+V^{2}(y)-V(y)\right)+\mathrm{A}_{2} U^{2}(x)=0
$$

This equation is variable separable [4]. We can solve it as follows:-

$$
\mathrm{A}_{1}\left(y V^{\prime}(y)+V^{2}(y)-V(y)\right)=-\mathrm{A}_{2} U^{2}(x)=\lambda^{2}
$$

So, $U(x)= \pm i \sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{2}}}$
Also,

$$
y V^{\prime}(y)+V^{2}(y)-V(y)-\frac{\lambda^{2}}{\mathrm{~A}_{1}}=0
$$

i) If $\frac{\lambda^{2}}{A_{1}} \neq \frac{-1}{4}$, then
$\frac{d V}{\left(V(y)-\frac{1}{2}\right)^{2}-\mathrm{d}^{2}}+\frac{d y}{y}=0 \quad ; \mathrm{d}=\sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{1}}+\frac{1}{4}}$
$\frac{-1}{\mathrm{~d}} \tanh ^{-1}\left(\frac{V-\frac{1}{2}}{\mathrm{~d}}\right)=-\ln (c y) \Rightarrow V(y)=\mathrm{d} \tanh (\mathrm{d} \ln (\mathrm{c} y))+\frac{1}{2}$
Then,
$Z(x, y)=e^{\left.\int \frac{ \pm i \sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{2}}}}{x}\right)} d x+\int\left(\frac{\mathrm{d} \tanh (\operatorname{dln}(\mathrm{cy}))+\frac{1}{2}}{y}\right) d y$
$=e^{ \pm i \sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{2}}} \ln x+\ln \left(\cosh \left(d_{1} \ln c y\right)\right)+\frac{1}{2} \ln y+\mathrm{c}_{1}}$

$$
=\mathrm{K} x^{ \pm i \sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{2}}}} y^{\frac{1}{2}}\left(\cosh \left(\sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{1}}+\frac{1}{4}} \ln \mathrm{c} y\right)\right) ; c y>0
$$

And the complete solution of (10) is given by:-

$$
\begin{aligned}
&\left(Z-\mathrm{K} x^{i \sqrt{\frac{\lambda^{2}}{A_{2}}}} y^{\frac{1}{2}}\left(\cosh \left(\sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{1}}+\frac{1}{4}} \ln c y\right)\right)\right) \\
&\left(Z-\mathrm{K} x^{-i \sqrt{\frac{\lambda}{2}^{A_{2}}}} y^{\frac{1}{2}}\left(\cosh \left(\sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{1}}+\frac{1}{4}} \ln c y\right)\right)\right)=0
\end{aligned}
$$

; cy $>0$
Where $\mathrm{K}, \lambda$ and c are arbitrary constants.
ii)If $\frac{\lambda^{2}}{\mathrm{~A}_{1}}=\frac{-1}{4}$,we get

$$
\frac{d V}{\left(V(y)-\frac{1}{2}\right)^{2}}+\frac{d y}{y}=0 \Rightarrow \frac{-1}{V(y)-\frac{1}{2}}=-\ln (c y)
$$

$$
V(y)=\frac{1}{\ln (\mathrm{c} y)}+\frac{1}{2} \quad \text { then },
$$

$$
Z(x, y)=e^{\int\left(\frac{ \pm i \sqrt{\frac{\lambda^{2}}{A_{2}}}}{x}\right) d x+\int\left(\frac{\ln (\mathrm{cy})+\frac{1}{2}}{y}\right) d y}
$$

$$
\begin{aligned}
& =e^{ \pm i \sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{2}}} \ln x+\ln (\ln (\mathrm{cy}))+\frac{1}{2} \ln y+\mathrm{c}_{1}} \\
& =\mathrm{K} x^{ \pm i \sqrt{\frac{\lambda^{2}}{A_{2}}}} y^{\frac{1}{2}}(\ln (\mathrm{cy})) ; K=e^{\mathrm{c}_{1}}
\end{aligned}
$$

and the complete solution of (10) is given by:-

$$
\left(Z-\mathrm{K} x^{i \sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{2}}}} y^{\frac{1}{2}}(\ln (\mathrm{c} y))\left(Z-\mathrm{K} x^{-i \sqrt{\frac{\lambda^{2}}{\mathrm{~A}_{2}}}} y^{\frac{1}{2}}(\ln (\mathrm{c} y))\right)=0 ; c y>0\right.
$$

Where $\mathrm{K}, \lambda$ and c are arbitrary constants.
Example:- To solve the(P.D.E.)
$5 y^{2} Z Z_{y y}+2 x^{2} Z_{x}^{2}=0$
1- If $\lambda^{2} \neq \frac{-1}{4} \mathrm{~A}_{1}$, then the complete solution of the above (P.D.E .) is given by:-

$$
\begin{aligned}
\left(Z-\mathrm{K} x^{i \sqrt{\frac{\lambda^{2}}{2}}} y^{\frac{1}{2}}\right. & \left.\left(\cosh \left(\sqrt{\frac{\lambda^{2}}{5}+\frac{1}{4}} \ln \mathrm{c} y\right)\right)\right) \\
& \left(Z-\mathrm{K} x^{-i} \sqrt{\frac{\lambda^{2}}{2}} y^{\frac{1}{2}}\left(\cosh \left(\sqrt{\frac{\lambda^{2}}{5}+\frac{1}{4}} \ln \mathrm{c} y\right)\right)\right)=0
\end{aligned}
$$

; cy $>0$, Where $K, \lambda$ and $c$ are arbitrary constants.
2- If $\lambda^{2}=\frac{-1}{4} \mathrm{~A}_{1}$, then the complete solution of the above (P.D.E .) is given by:-

$$
\left(Z-\mathrm{K} x^{i \sqrt{\frac{\lambda^{2}}{5}}} y^{\frac{1}{2}}(\ln (\mathrm{c} y))\right)\left(Z-\mathrm{K} x^{-i \sqrt{\frac{\lambda^{2}}{5}}} y^{\frac{1}{2}}(\ln (\mathrm{c} y))\right)=0
$$

# AL-Qadisiya Journal For SCIENCE Vol . 16 No. 2 Year 2011 ISSN 1997-2490 

; cy>0, where are arbitrary constants $\lambda$ and $\mathrm{K}, \mathrm{c}$

## References:-

[1] Abd Al-Sada, N.Z. (2006), "The Complete Solution of Linear Second Order
Partial Differential Equations", Msc, thesis, University of
Kufa, College of Education for Girls, Department of Mathematics (19-54),
[2] Al-Mayahi Noori F. and Mohammed J.M. (2007), " Partial Differential Equations and Their Applications ", Al-Najaf ,Al- Dheyaa for printing and design, First Edition .
[3] Braun, M. (1993), "Differential Equations and Their Applications", 4thed.
New York: Spring-Verlag,
[4] Codington, E.A.(1989), "An Introduction to Ordinary Differential Equations ",New York: Dover.
[5] Hani N.N. (2008), "On Solutions of Partial Differential Equations of second order with Constant Coefficients ", Msc, thesis, University of
Kufa, College of Education for Girls, Department of Mathematics,(15-149)
[6] Hanon W.H. (2009), "On Solutions of Partial Differential Equations and Their Physical Applications ", Msc, thesis, University of
Kufa, College of Education for Girls, Department of Mathematics, (20-56) .
[7] Kudaer, R.A. (2006), "Solving Some Kinds of Linear Second Order
Non-Homogeneous Differential Equations with Variable Coefficients", Msc, thesis, University of Kufa, College of Education for Girls, Department of Mathematics, (36-57) .
[8] Murphy, G.M. (1960),"Ordinary Differential Equations and their solutions", D.Van Nostr and Company, Inc., New York,.
يحيى عبد سعيد وخالد احمد السامر ائي سنة1979، "طرق حل الدعادلات التفاضلبية" ، مطابع إعدادية [9] 1حزيران الصناعية، رقم الإيداع في المكتبة الوطنية ببغداد1286.

## حول المعادلات التفاضليه الجزئيه اللاخطيه

$$
\begin{aligned}
& \text { *علي حسن محمد ،* ليلى عبد الجليل محسن الياسري } \\
& \text { *جامعة الكوفه ،كلية التربية للبـنات } \\
& \text { قسم الرياضيات } \\
& \text { الخلاصة :-ج } \\
& \text { درجتها اثثين وصيغتها العامه :- } \\
& \mathrm{A}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x x}+\mathrm{B}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x y}+ \\
& \mathrm{C}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y y}+\mathrm{D}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{x}+ \\
& \mathrm{E}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z_{y}+\mathrm{F}\left(x, y, Z, Z_{x}, Z_{y}, Z_{x x}, Z_{x y}, Z_{y y}\right) Z=0 \\
& \text { حيث ان F,E,C,D,B,A, دو ال خطيه للمتنير التابع y ومشتقاته الجزئيه بالنسبه للمتغيرين المستقلين X, y. }
\end{aligned}
$$

